
Name: ____________  PHYS 4031, FS 2018 

 

  HW6, Page 1/1 

 

Homework 6 Due: Start of class, November 30th 

 

1. Griffiths problem 5.24 (4th Edition; called 5.23 in the 3rd Edition) [4pts] 

Hints:  𝐵𝐵�⃗ = ∇��⃗ × 𝐴𝐴 in cylindrical coordinates: �1
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2. Griffiths problem 5.25 (4th Edition; called 5.24 in the 3rd Edition) [9pts] 

Hints: Consult the product rules from your youth (Lecture 2). Note that “Uniform” 𝐵𝐵�⃗  mans 
that it has no gradient, divergence, or curl. 
 

3. Griffiths problem 5.35 (4th Edition; called 5.34 in the 3rd Edition) [5pts] 
 

4. Griffiths problem 6.1 [8pts] 
Hints: Use the result from problem #3b from this homework for 𝐵𝐵�⃗ 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙. Recall that for a 
spherical to cartesian coordinate conversion, 𝜃𝜃� = cos(𝜃𝜃) cos(𝜑𝜑) 𝑥𝑥� + cos(𝜃𝜃) sin(𝜑𝜑) 𝑦𝑦� − sin (𝜃𝜃)𝑧̂𝑧 
 


